	
МЕТАЛЛЫ
Вариант № 1
1. Допишите уравнения реакций. 
              а) Ва + Н2 → …                         г) Са + Si → … 
                    б) К + Н2О → …                        д) Аg + НNO3(разб) → …
                    в) Na + H2SO4(конц) → …

2. Напишите уравнения реакций, которые осуществимы. Укажите тип реакций.
а) Au + H2O =            г) Сu + H2SO4 (разб.) =       ж) ZnSO4 + Mg =
б) Al(NO3) 3 + Fe =    д) Li + O2 =                       з) HF + Pb =
в) K + H2O =              е) Cu + Br2  = 

3. Осуществите превращения:

Zn → ZnS → ZnO → Zn → ZnSO4 → Zn(NO3)2

	
МЕТАЛЛЫ
Вариант № 2
1. Допишите уравнения реакций.
              а) Zn + N2 → …                             г) K + P → … 
                    б) Ba + Н2О → …                        д) Ca + НNO3(конц) → …
                    в) Mg + H2SO4(конц) → …

2. Напишите уравнения реакций, которые осуществимы. Укажите тип реакций.
а) Ba + H2O =                  г) Сu + H3PO4 =             ж) SnSO4 + Cu =
б) Cu(NO3) 2 + Fe =         д) Li + N2 =                    з) H2SO4 (разб.)  + Na =
в) Na + O2 =                     е) Ca + HI =

3. Осуществите превращения:

PbO → Pb → PbS → PbО → PbSO4 → Pb(NO3)2


	
МЕТАЛЛЫ
Вариант № 3
1. Допишите уравнения реакций.
              а) Al + C → …                             г) Na + S → … 
                    б) Ca + Н2О → …                        д) Нg + НNO3(конц) → …
                    в) Сu + H2SO4(конц) → …

2. Напишите уравнения реакций, которые осуществимы. Укажите тип реакций.
а) Au + H2O =            г) Сu + H2SO4 (разб.) =       ж) ZnSO4 + Mg =
б) Al(NO3) 3 + Fe =    д) Li + O2 =                       з) HF + Pb =
в) K + H2O =              е) Cu + Br2  = 

3. Осуществите превращения:

Са → СаО → СаСО3 → СаО → Са → Са(NO3)2

	
МЕТАЛЛЫ
Вариант № 4
1. Допишите уравнения реакций.
              а) Zn + H2 → …                             г) Mg + Br2 → … 
                    б) Li + Н2О → …                           д) Zn + НNO3(конц) → …
                    в) Ag + H2SO4(конц) → …

2. Напишите уравнения реакций, которые осуществимы. Укажите тип реакций.
а) Ba + H2O =                  г) Сu + H3PO4 =             ж) SnSO4 + Cu =
[bookmark: _GoBack]б) Cu(NO3) 2 + Fe =         д) Li + N2 =                    з) H2SO4 (разб.)  + Na =
в) Na + O2 =                     е) Ca + HI =

3. Осуществите превращения:

Mg → MgО → MgСО3 → MgО → Mg → Mg(NO3)2




